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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

. All questions are compulsory
. All questions of Section-A and all questions of Section-B are to be attempted separately.
. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence
Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each

question is of two marks.
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WF-31 / SECTION-A
Tgaram w1 wafefy ik 3% v fafeg)
State the location of ribosomes and their function.
form feafh & faeqrem =1 oftam =% gR0 79 ¥ 74 g0 & wwE € ?

Under what condition will the magnitude of displacement be equal to the distance travelled
by an object ?

“3q FEdta we w1 A fafay fres s e o 9= w6 W aed o anfee w1 o
et 1 =t ® :

Name the unbalanced force which slows down a moving bicycle when we stop pedalling it.
i Faeq | fvw wen fm §7 wi 9 fag fafa)

How evaporation is different from boiling ? Give two points.
Siqeil =6 Sas o 7 fefeg fomm s A9 fag 7 wree sl & w2

(1) wirshia
(2) HaET wsd
w4 € 3 el & e fafa)

Name the tissue in animals which carries out similar function as the following tissues do in
plants :

(1)  Epidermis

(2)  Vascular Bundles

Also write their functions.

i

QO 10w WG 9@ K0 ky, 791200 kg T5EE F A fE F 7 R @ el  wm w o

qftsfem wiferg )

(BRI G=667%10"1"Nm'kg ")

Calculate the force of gravitation between two objects of masses 80 kg and 1200 kg kept at a
distance of 10 m from each other.

(Given G=6.67 x 10~ 11 Nm® kg )

femeft smefusm =1 srwet = SESH A, B @91 C ®1 KOH 1 25% faeram (Femrysmaes) &1 =i
&1 | BT A A 25g KOH #1 100g 61 # i@y, 11 B 3 25 KOH 1 100 ml 57 # fireman, #fk
O C 7 25¢ KOH %1 9@ # faeman iR e #1100 mi fean = @ feed g 259 faeram
T #2739 S HRY wiew Sl

A teacher told three students A, B and C to prepare 25% solution (mass by volume) of KOH.
Student A dissolved 25g of KOH in 100g of water, student B dissolved 25g of KOH in 100 ml
of water and student C dissolved 25g KOH in water and made the volume 100 ml. Which one
of them has made required 25% solution ? Give your answer with reason.
freffea % fag R fafaw)

(a) Sl H wdrega g e ¥

(b)  %a vaed & w%a €1

Give reasons for the following :
(a) Solids are incompressible

Page 2 of 10



v

10

11

12

13

14

15

(b) Liquids can flow
Y] FIE =1 Bl d aewd 1w T §) frs vl % sw R
()  fagm % wewl ) 9w F6 F ol e ol = wam fsmm wsa £2

(b)  foeo =1 9 FEERE 579 | 5 50 W S F aone w ER 9@ e sem a2

©  (b) v ¥ swafs e & & o fafed)

You are provided with a mixture of Iron filings and sulphur. Answer the

following questions:

(a) Which technigue can be used to separate the components of mixture ?

(b) ~ Name the gas which is produced when the mixture is treated with dilute sulphuric
acid at room temperature ?

(c)  Write two properties of gas evolved in part (b).

faet Seit =i o o] % fom wifaw) 2 = semeoll g wifve & sl @ fafe w
feroquit =it

Draw the diagram of smooth muscle cell and a sperm cell. Comment on the variety of shapes
of cell by taking two more examples.

(a)  Fa% %1 v fefa)

(b) @I Sl H ! w0 IR &7 9 FwRe e

(c) WY ad S e e w4 e €2

(a)  Define tissue.

(b)  Whatis their utility in multicellular organisms ? Give two reasons.

(c)  Why are tissues different in plants and animals ?

UF 60 kg W aa Tefdl W 18 km/h ® A1 ¥ dwwm € v w=fd w wd
1 fadzet =1 2fell W Fgm &1 9% 3 99 wife forad 2l vefdl | s w5 21 (1 e
=100 kg)

A man weighing 60 kg runs along the rails with a velocity of 18 km/h and jumps on to a trolley of mass
1 quintal standing on the rails. Calculate the velocity with which trolley will start travelling along the
rails {one quintal =100 kg)

m  feet fie =1 wemm ol oud wrF = 9 s fafed)

() = Tt o o e 9, A TR 9, TR e §7 AR I S fag w fafed |

(i) List two differences between mass and welght of a body.
(i) Can a3 body has mass, but no weight? Give reasons for your answer.

T8 TF 100 m T W F G §) 9% @ R} g et o 200 moF gl w6 W i
9y T IR HE H T 99 W A9 A H O fiee weiia d ot # ) sawt oige = sl
slraa a7 9@ Hifag |

Neha sw'rms; in a 100 m long pool. She covers 200 m in one minute and forty seconds by swimming

from one end to the other and back along the same straight path. Find the average speed and average
velocity of Neha. :

=z 1 fa 1 guu Fraw fefag) @ ofdfa w0 F om 50 19, romm @t = F =
wft Fifore | =& =it 51 59K Ft vfoamm fafew)

State Newton's second law of motion and derive an expression for force in terms of mass and
acceleration. Define 51 unit of force.
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16 | @1 YR 9% W 423 N a9 9ol € W 1000 N €1 JEEf W Emre 99 fRen #7 (g=
10ms 7).

Mona weighs 422 N on Earth and 1000 N on the planet Jupiter. What is the gravitational force on
Jupiter? (g= 10ms ).

17 g w e O e faw & e s wl-am & e w6l A o 95 s o 9w w6
ol @ Fo i 9 P § I vee w9 3w s e e § 9w
Tarem g ¥ T A IER Y1 e Wi g fain W ) 6 e s 37 3 38w T
e wEa & fo sresi il gt €
()  Eaman w P 6 s 2
) el @ wrgwEn & A feferd
i) T % R el v e e e
Surbhi alongwith her younger sister Vibha loved going to field with parents. She helped

taking out certain plants from the field using khurpi. She told Vibha that only selected plants

need to be uprooted. Vibha asked her why only specific plants need to be pulled at ? Surbhi
explained that these were weeds which are not desired with the crop.

(i) Why is it essential to remove weeds ?
(ii) Name two common weeds.
(iii)  What values are exhibited by Surbhi here ?

18 fafira wod Tada & avE witaw fafm vodf dad & 9w I W fafire wee @ am @
o = e #7

Explain composite fish culture. Which special parameter is to be kept in mind during
composite fish culture ?

19 fretefas feft & S ifag ik v ffudl =t ve=m s
(i) 79 A9 F WA gU W o
(i) @ vd s % o= gaen R s
(i) @ % w59 0, 34 F ot ¥
(v) O T 1 g w5 e ¥ fafve & ges R s €
(v) i sees o T w free e s
Observe the following situations and identify the techniques associated with each :
(i) Milk is churned to separate cream from it.
(i) A mixture of sand and water is separated.
(iii)  Air is liquified to separate liquid Oz
(iv) By using filter paper, different colours presentina dye are separated.
(v)  Mixture of ammonium chioride and sand is heated.
0 (1) ETeE W wgew S st e fafag
(b) e T F 273K A9 A, T AR OO e s g w6 o
¢ 7 = fefog
(©) T s 9 TE 9 W T H WO S S e e a6 e € T8 S
e ot ¥

(a) Define latent heat of Fusion.
(b) Why is ice at 273K more effective in cooling than water at same  temperature
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Explain.
(€) Explaim why when a solid is heated, its temperature remains same during, melting,
Where does the heat go ?

21 favedes Saw w1 iinn fafag) favsios ol @ o Siveel s s g &, semse 3 S
e Fmiv st &2 v8 wew o M fafey ma sfonfia Sk
Define meristematic tissue ?
What happens to the cells formed by this tissue and what do they form as a result ? Name
and define the process.

22 HRA Y B F 9N A% S0 T8 W W A S e s wowwE fem F wemn s
e = ¢ :

.................

&7 (m/s)
ITTYTELT

0 123456789

T4 (s)
uftefea wife .
(a)  2s¥®4s% GHIGUE | HR B H =
(b)  T9G 9 I FRI F A TE T
(€  8s¥SHI SR AT B &R T % 7 gl
(d) 2 R A J BF @ FR g AR R

The velocity-time graph of cars A and B which start from the same place and move along a
straight road in the same direction is shown below :
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Calculate :
(a) the acceleration of car B between 25 and 4 5.
(b) the time at which both the cars have the same velocity.
(c)  the distance travelled by the two cars A and Bin 8 s.
(d)  Which of the two cars is ahead after 8s and by how much ?
23 forelt ag w1 Av-wwg T R smia o €

9+
B
?.
= 6146
T5Y..A

o 12
"l (5) —
(@)  OA T91 BC tEnedl R weftia awg #1 nft #1 wor we=g |
(b) =8 %% WAy feg an A nfem 42
() = feafidl d o & w0 =1 ofiwes wifag
() dRamzdddeFEm () A D IS F dw
The velocity-time graph of an object is as shown below.

345678 01011121314
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(a)  Identify the kind of motion of the object represented by lines OA and BC.
(b)  With what velocity the object is moving at t = 8 seconds ?
(c) Calculate the acceleration of the object in the following cases :
(i) Between the third and tenth second.
(i)  During the last two seconds.

20 Vit wa fadeit A % o guR & T e dom i Al e wa w0 w E e

€' Tee o % fag sEves e il w1 eera wife)

“The cross breeding programmes between Indian and exotic breeds for variety improvement
are focussed on to develop varieties for desirable traits”. Mention the desirable traits needed
for poultry farming.
Wm-%/ SECTION - B
25 afass A Fe e e e §

(@) W F e § b) wFIER
(¢ - e o, W A @ e
Metanil yellow is an adulterant mainly found in :
(a) mustard seeds (b) turmeric powder
(c) wheat, maize, rice (d) - Pulses
26 wEremen ¥ TEEET ®1 I F Y e 1w fe s fafve wedl e @ 2w
form i g 99 E won =few =41

(a)  werTImEn # wEd W g svee v §)
(b) -uE I R
() € T % Hgfum w wHal ¢
(d) T wE @ e
While using the chemicals in the laboratory the teacher instructed not to use single dropper
for different chemicals without washing because :
(a)  There are many droppers in the laboratory
(b)  Itis unhygienic
(c) It might contaminate the chemicals
(d)  The dropper might get spoiled
27 wE AN e & 90 99 went 9 o yen ¥ faart W faam @ 0 wihe vie W Sem € A
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fagor & Fo F9 W e §2
(@) W a9 F0EEE w9 Y e g we frard 3§

(b) = T v wv e e & vy e e | 69 en
() = T die %o e T e
(d) Em 9@ w6 e fad W

When you mix iron filings and sulphur thoroughly and spread the mixture evenly on a white
sheet. How the particles in the mixture appear ?

(a)  grey and yellow particles can be seen distinctly spreaded uniformly.

(b)  grey and yellow particles can be seen distinctly, but they are not spread uniformly.

()  grey and yellow particles cannot be seen distinctly.

(d)  only yellow particles can be seen distinctly.

28 7€ F i qU14 g BER WS HI 0 W few # st wwe fufvm form wmn &) faam @ g 1

FragEl 7 YuE F w0 A gem)
(@) ifi fafu
(b) et fafy

© i T wamEfEs g

(d) 3ETa gas ¢ fg s EE )

In a china dish, 7 g iron filings and 4 g sulphur powder are mixed properly. Suggest a method
to separate the individual constituents from its mixture.

(a)  Physical method

(b)  Chemical method

() Both Physical and Chemical method

(d) Components cannot be separated

29y WA 3 2.0 g wiw wene fren W@ € et #1w fem e € w wA w A feew

(a) e foaem &1

(b)  d it s F vitaf 6 €

(¢) oo fita s F witafifa g@ §)

(d) VAW IEEd FeEH & W A gEE-gws v wm )

2.0 g copper sulphate crystals are placed in a dry test tube. The test tube is heated. The
copper sulphate crystals :

(a) melt only.

(b)  directly change into gaseous state.

(¢)  meltand then change to gaseous state.

(d)  crumble to form white powdery mass.

30 mmaﬂmmmﬁﬁMﬁmwﬂﬁtHMﬂhﬂtlm
- ifEwh .

(a) & R % wifvEd sfuw gen §

(b) &% IR % HifeEw, w4 o F
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(c) O AFR FI wHEHT T4 Tow
(d) R R w5 A afie den i

You are viewing a prepared slide of a temporary mount of cells under high magnification of
microscope. You would observe :

(a) More number of cells of large size

(b) Less number of cells of large size

(c) Less number of cells of small size

(d)  More number of cells of small size

31 ol wifvr %1 W Yaew 9 3 W I U 9% U ool 99 e uifEl @gs @ Fea 1
wfte 2ait i 1 T wwE w R e
(a)  Fr S b) HEwm e

© e i (d) TRHHEA S0H
The slide under microscope shows alternate light and dark bands and many nuclei in the cells.
It may most probably be of a :
(a)  nervecell (b)  Parenchyma tissue
(c)  striated muscle (d)  sclerenchyma tissue
32 ardiE fafa g fom fram & e 91 gy e o g €, 9 faamr 1
t:

(a) wifeTm FEREE 79 T |

(b) wfegm FeirEs a9 we |

(c) wifeaw FerEs a9 sEifEy sEEe |
(d) T qUn ATHEY FEEE |

Evaporation is the technique used to separate the components of a mixture of :
() sodivm chloride and glucose,

(b) sodium chloride and water.

() sodium chloride and ammonium chloride.

(d) glucose and ammonium chloride.

33 wSEFE S wvaa s fuaatamt: 1
(a) WEEYH IR wEA ¢
(b) & Y wE i fawm # v
(c) I% €T waw F WP & @A ¢
(d) FeeRgEl & 7 smifis i W fad w
The statement which is true for frictional force is :
(a) It is independent of weight of the object
(b)  Itisin the direction of the applied force

() Itis independent of the nature of surfaces in contact
(d)  Itopposes the relative motion between the objects

34 PHEl ¥ U T 1 FW aehe % $9 el W o va | fremn SRR w e R s e 2
% ¥/ weftvifa fashfea fran ameds faam @ =1
(a) =9 faega o o e 2 €7
(b) ¥ WH-9 =1 vy feww 2m?
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A group of students added few crystals of copper sulphate in distilled water. They stirred the solution
properly using a glass rod. what do you think -

(a) Are the particles in the solution visible 7

(b) Will the path of the beam of light visible 7

as warTen § 9% w1 TeEE 0 $W ® Y R R w1 auiier v s Sifee? anidies
7 ova =1 frafy =0 ¥ wifee?

Mention the type of thermometer that should be used to determine the melting point of ice in
laboratory. What should be the position of bulb of thermometer ?

36 uF oM@ @ d@ed A 79 B § ve- du Rl swm #1 de A F F9t @ aE W s0mlL
Ffaa e @9l 9% B W 50mlL Tl ¥iae W YW ¥, 9 WAW oF &1 98§ @@ wm?
7 tgm % fay 3fem s w1 e S

A student puts five raisins each in two beakers A and B. Beaker A contained 50mL of distilled
water at room temperature and beaker B had 50mL of ice cold water. After sometime what
will be the observation of the student? State reason for this observation.

~olobolo-
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